
5

② 5 × 3 ＝ 5 × － 5

① 5 × 6 ＝ 5 × ＋

9

5 5 10 15 20 25 30 35 40 45

かけられる数 1 2 3 4 5 6 7 8

2  次の　　　に数を書きましょう。

② 7 × 3
5 ×

かける数

× 6 ＝ #

3 ＝ #

あわせて #

日にち：　　　月　　　日

名まえ

1  次の　　　に数を書きましょう。

あわせて #

2 × 3 ＝ 6

① 8 × 6
4 × 6 ＝ #

4

11

⑪ 仕上げ



5

② 5 × 3 ＝ 5 × 4 － 5

① 5 × 6 ＝ 5 × 5 ＋

9

5 5 10 15 20 25 30 35 40 45

かけられる数 1 2 3 4 5 6 7 8

2  次の　　　に数を書きましょう。

② 7 × 3
5 ×

かける数

× 6 ＝ #

3 ＝ #

あわせて #

日にち：　　　月　　　日

名まえ

1  次の　　　に数を書きましょう。

あわせて #

2 × 3 ＝ 6

① 8 × 6
4 × 6 ＝ #

4

11

⑪ 仕上げ 答え

24

24

48

6

15

21


